IS #R A TE 2R (Rad)ICLHE=RUU T RIERER 12A11H(A)
=2 s REPR| Bi5 :0p RO " "
#emsoomsim|  1em 1cm 128&Y

1 BB/ 0.08
2 At 0.09
3 T 0.07
4 TN 0.06
5 EHU 0.09
6 B#/ 0.11
7 b\ 0.08
8 —E/ 0.09
9 mR/D 0.10
10 FKFLN 0.07
11 LEERIN 0.09
12 FEE /I 0.08
13 R/ 0.07
14 RKE /N 0.10
15 E NP 0.07
16 INEFFIN 0.10
17 ki IN 0.10
18 NI/ 0.08
19 AT RZE (7 0.13
1 FE—rh 0.07
2 E: ol 0.07
3 E=rh 0.08
4 &pgrh 0.09
5 ERH 0.07
6 ZEINF 0.07
7 & H 0.09
8 —Hrh 0.06
9 KFE 0.07
10 i 0.06
11 A RZEE (%) 0.09
| [ampzegmm _— | _— | _— | 0.08
HINPER T 0.08




